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e () FEHYE A 8, 95 4 G gl v 31 % I 1oy |

Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.

(i) I F97 % GH 91T %1 FHHAR TF 19 5 BT |

Solve all parts of a question consecutively together.
(iti) Y% F¥T 1 73 98 8 IR HIrg |
Start each question on fresh page.
(v) @ 913 § 3R g7 F1 17 7 30 3FaR S a8 |

Only English version is valid in case of difference in both the languages.

1. (i) <IeTE 9T HR YRR & des Siiel 1 3ial i el i ggmar ¥ guis |
: Show the difference between Lap and Butt type welded joints with the help of
sketches.

(ii) T THEHCT SIS HI ITAN Tord JehI 3 WRYT ¥ FohaT 11 Thell 8 7 56 IWANT 1
IE Uh IETE e |
For which type of loading, a turn buckle joint can be used ? Write any one
example of its use.

(iii) & a2 =TSt Bl IR HIRT |
Define Shaft and Key.

(iv) ‘3T’ i ARG hIT |
Define ‘Estimating’.

(v) TcuE a7 ST < o 3T T hINT |

Differentiate between direct and indirect expense. (2x5)
2. () e Higar @ o1 N A € 2 39 %A b % g e i w5 s feen
AT g ?

What do you understand by stress concentration ? Which methods are used to
reduce this ?
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() AR IR fEoie des e % Hef i Tre 3 G g hilod |

Derive formula for axial tensile strength of double parallel fillet welded joint. (6+6)

@) HEHT G Siee S SEYIhAT FHSTEY | U HTERY Siee bl U GHI el
see o fpg yer ufafia fe S gl 8 7 afs auemsT |

Explain the necessity of a uniform strength bolt. How an ordinary bolt can be
transformed into a bolt of uniform strength ? Explain with sketch.

(i) T Td TER HI g Feist Hufei H FG-uiedica fum IR W 3Eh T

o3t w1 Wi ST % 3TUTE H Ewisy |

Draw half-sectional sketch of a protected type rigid-flange coupling and show

its main dimensions in proportion to the shaft diameter. (6+6)
T TR el W 1 aifieess SR 1 Rl w gl i agea & fwan @
a3 |
Explain the designing procedure of a simple ‘knuckle joint” with the help of sketches
and formulae in detail. (12)

T 3 JATHR T T 3000 N-m HT TH &1 T A1 10000 N-m i Th TS
w2 | 9 3 vered T SR o SRIEE 700 MPa a1 = 379690 e 500 MPa € |
Y& T[UTish 6 WA g MTHE T 19 F1a his] |

A solid circular shaft is subjected to a bending moment of 3000 N-m and a torque of
10000 N-m. The material of the shaft has ultimate tensile stress as 700 MPa and

ultimate shear stress as 500 MPa. Assuming a factor of safety as 6, determine the
diameter of the shaft. (12)

Gy Terafiei 3 affertor 61 ot Tt o T GHEST |
Explain t.hc?‘classiﬁcation of bearings with simple sketches.
(i) e Terafiont <Y mireren fermmatt e farfett w61 amemsT |

Explain the standard dimensions and designations of ball bearings. (6+6)

(i) TG TTORT bt aRTST UE v TR | STeher T ST IO H T 3R BT 8 ?
Write definition and aims of costing. What is the difference between Estimating
and Costing ?

(i) @S HNE hi TERIAT Y AN % Thi i AT |
Explain the components of cost with the help of block diagram. (6+6)

() et fafy @ gafaede fog fagra =1 gy |
Explain the Break-Even-Point theory with graphical method.
(i) STt ST T Sl 8 7 SRl ST AT B EHEE |

What are preferred numbers ? Explain their basic series. (6+6)




